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QUESTION 1

Your development team wants to use Google Guice. A previous architect assigned this request a low priority, citing the
complexity of integration and no compelling benefits statements from the requesting team.

The team claims that their colleagues have achieved the integration using a pattern. This pattern reduced the level of
difficulty and risk and did not require vendor support.

Which pattern fits this description?
A. Context Holder

B. Service Starter

C. Dependency Injection Extender
D. Bean Locator

Correct Answer: C

QUESTION 2

You are the architect for XYZ bank. XYZ is redesigning their online banking offering and you need to ensure that the
new design follows security best practices for the JEE platform.

Select three security best practices for JEE applications.

A. Schedule regular penetration testing.

B. Log all security related application events.

C. Implement an exception-handling strategy.

D. Encrypt data, both on the wire and at rest.

E. Use both programmatic and declarative security.

F. Treat users as untrusted even when authenticated. 100% Real QandAs | 100% Real Pass

Correct Answer: BCE

QUESTION 3

Which two statements are true about security strategies at the message level?

A. Messages are secured during transport and after arrival at their destination 100% Real QandAs | 100% Real Pass
B. Each portion of a compound message is secured.

C. SSL is required to ensure authenticity, integrity, and confidentiality.
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D. Message attachments are secured without the need for a dedicated API.
E. Security is dependent on the application environment or the transport protocol.

Correct Answer: AD

QUESTION 4

An online library wants to introduce a feature where an email notification is generated whenever a book becomes
available for circulation. This notification must be sent to only those members who have expressed interest in that book.

Which design pattern would you use to implement this requirement?
A. Observer

B. Payload Extractor

C. Asynchronous Resource Integrator

D. Web Service Broker

E. Service Starter

Correct Answer: A

100% Real QandAs | 100% Real Pass

QUESTION 5

A company that sells avatar skins tor virtual reality environments has a static website for advertising their wares. The
website was built using What You See Is What You Get (WYSIWYG) html editor and also contains a lot of JavaScript.
The company now wants to add server side processing capabilities developing a shopping application, the company is
considering using JavaServer Faces (JSF)

Which statement is true?

A. The JavaScrip code has to be rewritten to conform to JSF standards.

B. JSF tags cannot be integrated into the HTML generated by WYSIWYG editors. 100% Real QandAs | 100% Real
Pass

C. The web pages cannot be previewed accurately with a generic WYSIWYG HIML editor.
D. The web pages must be converted into Face lets.

Correct Answer: C
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